KEYSTONE RIDGE DESIGNS, INC.

670 Mercer Road | Butler, PA 16001-1840 KEYS]'ONE RIDG®E

Toll-free: 1-800-284-8208 | Phone: 724-284-1213
www.keystoneridgedesigns.com

DESIGNS

ASSEMBLY INSTRUCTIONS
SAXONY TABLE SET

PLEASE READ THESE STEPS BEFORE PROCEEDING
Included with your Saxony Table Set is the Following Hardware:

- Thirty-two (32) 1/2" Stainless Steel Flat Washers

- Sixteen (16) 1/2” Stainless Steel Hex Head Nuts

- Sixteen (16) 1/2" Stainless Steel Lock Washers

- Sixteen (16) 1/2” x 1 1/2" Stainless Steel Hex Head Cap Screws
- Four (4) 3/8" Stainless Steel Flat Washer

- Four (4) 3/8" x 1” Stainless Steel Hex Head Cap Screws

ABIDE BY THE FOLLOWING INSTALLATION INSTRUCTIONS 3/8" COUPLING NUTS
Table
1. Place tabletop on pedestal, aligning the holes on the W‘/
un(cjieri,i(?e of the tabletop with the coupling nuts on the ‘ 3/8" 5.5, FLAT WASHER — ‘
pedestal. L T
2. Add 3/8” washer to 3/8"” x 1" cap screw and insert up I
through the hole in the pedestal into the nut. Then tighten. e TABLE TOP
[—

3/8" x 1" 5.5. HEX HEAD CAP SCREW

| PEDESTAL BASE

1
Seat
1. Place seat on top of pedestal, matching up holes. 1/2" X 11/2" S.S. HEX HEAD CAP SCREW
2. Add 1/2" flat washer to 1/2” x 1 1/2” cap screw and insert f‘ SEAT \
through holes in seat and pedestal. /
3. Slide 1/2" flat washer over exposed threads and add 1/2”
lock washer and nut and tighten. >
\-=( :
% I/2” S.S. FLAT WASHERS
1/2" S.S. HEX HEAD NUT -



